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2AM: SAHED
M oaDAe CAAA
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S ALH = 0t 3,214,195 2,674,156 540,039
Xl 11,700
Al 3,202,495
ANANE SAAA 1,541,735 1,390,640 151,095
Xl 11,700
Al 1,530,035
a4Nae =8 ZAAHE =8 1,410,835 1,259,740 151,095
Xl 11,700
Al 1,399,135
SANHE & SSA¥E 29 45,535 21,360 24,175
201 Let24E] 27,535 20,360 7,175
01 At 22l 27,535 20,360 7,175
OZAZe (AR HEHIZE M2 DE
1,000,000& * 73] * 204 At 14,000
OZAIHE HMETH ZESE AIREE 4,600
OEZEZHWAX 35,0002 » 208 700
OEcdola 55,000& = 208 1,100
OE22H2d3 ItECX
110,000 = 44 « 23| 880
OEZ=2H dE 160,000& = 441 « 33| 1,920
OZgH ElH 220,000 = 44 « 23] 1,760
OgRELN =AY 7,175
O A& E0N M
10,0002 * 80% 800
OMEHE BE0M W 15,000& * 60= 900
O#IMNPLAN DN HE
15,000 * 80% 1,200
OANZU3 20N M= 15,0002 *» 60 900
o2& A3 20N M=
15,000& = 758 « 33| 3,375
203 YR =&l 18,000 1,000 17,000
03 AIHF=XH R =AH| 18,000 1,000 17,000
Oser & oI A FH 8,000,000& 8,000
OZANuE ASHRFA 9,000,000 9,000
OZAAHE gRF2 1,000, 000& 1,000
HE X< 2eltl 11,700 10,600 1,100
Xl 11,700
201 LB-2E| 5,000 0 5,000
Xl 5,000
01 At 22l 5,000 0 5,000
OMNLHSE 7T CHHERXE ARR2 MY
5,000,000& 5,000
Xl 5,000
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202 Od4dl 6,700 10,600 A 3,900
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01 = LH 4 Hi 6,700 10,600 A 3,900
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ZII0IESAE oHMAFN GHE A TAIHE += 150,000 200,000 A 50,000
2|
207 51 OH £ Hl 150,000 200,000 250,000
01 2284 150,000 200,000 A50,000
=01 ASSHE BEN CANY 22
150,000, 000& 150,000
2040 E= T ADI=2HE =8 500,000 0 500,000
207 A RO 500,000 0 500,000
01 284 500,000 0 500,000
©2040 E= TAJI2HE =8 Y
500,000,000& 500,000
SAAHEANE ASOHH HE =8 200,000 0 200,000
207 RO 200,000 0 200,000
01 2339l 200,000 0 200,000
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03 A& S THHI 3,600 0 3,600
O X/ 0l 2 & 2 & A (CPTED) 2 HIALY A& 2
=]l 500,000,000& * 0.72% 3,600
NAAHL oY -5t 15,900 15,900 0
HWaU= NSALEdst =8 15,900 15,900 0
201 ¢er24| 14,900 14,900 0
01 At 22l 14,900 14,900 0
O3IgMT MAE(MYXNZ) 10,0008 * 2005 2,000
OXtgAg 240l AlAH(OH)
100,000& * 9K 900
OXNAAL X CHLHZH X} &2k
10,000& * 1,000% 10,000
Od=ZA&Y U2 M= 1,000& * 1,000% 1,000
ONEZUEY SE+8F 4,000& = 25004 1,000
203 YR =&t 1,000 1,000 0
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I 2HAH(ZAIAHED)

X ZH
S =

S ALH =

¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=UadotlI(2IEZ4l)
20,0003 199 = 82 « 128 * 70% 25,536
203 YR =&l 9,600 3,600 6,000
01 J|22F PR =8I 6,000 0 6,000
OJIEH(45) 6,000,000& 6,000
04 EASIYRFLH 3,600 3,600 0
©J1 & X (202! Oldt) 300,000& = 123 3,600
405 XHobF S HI 3,000 9,000 26,000
01 AL ESFH S 3,000 9,000 26,000
GHhEE D] (99 = 1t) 3,000,000& « 1CH 3,000
MEES (S AIAHED) 1,576,000 1,216,000 360,000
HEAHHK = 1,576,000 1,216,000 360,000
HEAHHXIE(Z A& D) 1,576,000 1,216,000 360,000
701 JIEtel HSHES 1,576,000 1,216,000 360,000
01 JIEtel HE &= 1,576,000 1,216,000 360,000
OUXEZL EL3IH ¥&32  1,576,000,000& 1,576,000




= A
N = 0 & AF S 99 N A
20008 &= 20l A LB H SAIHEDN ~ SRS
==y R=1an]}
=N =1
oAb e X 2e] CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
S AL JH & 1t 16,384,336 18,303,962 N1,919,626
= 4,773,000
Xl 2,000,000
Al 9,611,336
AlJH & 16,335,372 18,018,984 N1,683,612
= 4,773,000
Xl 2,000,000
Al 9,562,372
At EEX 2 e 1,749,000 7,125,000 N5,376,000
HE KNAMAHE HE 1,749,000 7,125,000 N5,376,000
401 Al HI L £ 0HHI 1,749,000 7,125,000 N5,376,000
01 Al& B 1,494,000 6,529,400 A5,035,400
OAF XAMAMBHHE ALY (EIY, B
AMLHA=E S HS WHABZ2AH) 1,494,000
1,494 ,000,000&
02 2teld| 247,000 581,000 A 334,000
OHZF NAMAME AR ML Y]
247,000,000& 247,000
03 Al&E 201 Y| 8,000 14,600 A 6,600
OFF NAMIHAEHAHE AIE204]
8,000,000& 8,000
M RN 3,245,488 8,737,304 N5,491,816
= 373,000
Xl 2,000,000
Al 872,488
QL M2MHNWS I HESLHel AlE 373,000 100,000 273,000
= 373,000
403 XX S M S K201 A 373,000 100,000 273,000
= 373,000
02 Z2I)|2SoUeHI =X E A HI 373,000 100,000 273,000
OSM2MHMSHCHX H LMl & AR 3 A
373,000,000& 373,000
= 373,000
HEMABUIZLHANEFA 15,488 13,304 2,184
201 et 13,488 13,304 184
01 AR 22l ] 9,600 9,600 0
OstHtZ S 2 222 N AR
800,000& * 1CH + 12€& 9,600
02 32%H| 3,888 3,704 184
oxXngssUt 1,350 * 122l * 240 3,888
203 R F & 2,000 0 2,000
03 AIZH =X 2 F X H| 2,000 0 2,000
OAtE XY & 22| R =& 2,000,000 2,000
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QEHICSUA EFSSAE EXAY 2,286,000 2,100,000 186,000
X 1,600,000
Al 686,000
401 Al HI K 201 I 2,286,000 2,100,000 186,000
X 1,600,000
Al 686,000
01 A& Bl 1,982,480 1,687,690 294,790
OLEFHIALSCA ESSAE EXNAE Al
&l 1,982,480,000& 1,982,480
Xl 1,390,000
Al 592,480
02 Zteltl 300,000 400,000 A 100,000
OFHIALZCA ESSAE EXAE 2
2/l 300,000, 000& 300,000
X 210,000
Al 90,000
03 AIE 2 THHI 3,520 12,310 A8,790
OFHIALZeA E=SSAE EXNAE Al
A S0l 3,520,000& 3,520
GEFECYBMAST EZ32AE XA 571,000 0 571,000
Xl 400,000
Al 171,000
401 Al HI K 201 I 571,000 0 571,000
Xl 400,000
Al 171,000
01 A& HI 571,000 0 571,000
OLEFHTABMACT BLBS AL ALYl
571,000,000& 571,000
X 400,000
Al 171,000
A CHRITH A 11,340,884 2,098,000 9,242,884
= 4,400,000
Al 6,940,884
HFFMUAC] HEFE HEAY 2,879,000 4,000 2,875,000
401 AIEHI L 2CHYI 2,879,000 0 2,879,000
01 A& Hl 2,870,300 0 2,870,300
OB &l 456,000,000 456,000
O ZE AN S AtHl 2,414,300,000& 2,414,300
03 Al S THHI 8,700 0 8,700
OAIE S THHI 8,700,000& 8,700
A THMALS 8,461,884 0 8,461,884
= 4,400,000
Al 4,061,884
401 Al HI K 201 I 8,461,884 0 8,461,884
= 4,400,000
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ChSl: ARICHEITH A (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 4,061,884
01 Al&H| 8,340,000 0 8,340,000
OFHFALASCI] THAHAISE 2 AHH|
540,000,000 540,000
= 540,000
OFHFALASCHI] THAHAISE ZAHH|
7,800,000,000& 7,800,000
= 3,860,000
Al 3,940,000
02 2eldl 105,300 0 105,300
OFHFALASCI] THAHAISE 22| H|
105,300,000 105,300
03 AlIE 20| 16,584 0 16,584
OFF LA THMHAIS AlE 204
16,584,000 16,584
HESHAY (S A D) 48,964 284,978 N236,014
JlE&d| 48,964 69,484 N 20,520
Jl2 &4l 48,964 69,484 N 20,520
201 gBt2Ay| 22,516 26,824 N4 ,308
01 AF 2t 2| H| 22,516 26,320 N 3,804
OJl2gesd =AML (JI=HH])
500,000& = 179 8,500
o2 (21=&Hl)
8,000& * 1798 = 8Y = 128 13,056
OSIIAEBEX ¢2ARERS 30,0008 * 12& 360
OLIctEH OlE2tx2 30,0008 * 203 600
202 044l 22,848 26,880 N4 ,032
01 2L I 22,848 26,880 N4 ,032
O=LoHI(JI=ZHl)
20,0008 = 17 = 82 x 128 * 70% 22,848
203 ¥ R =&t 3,600 12,280 A 8,680
04 FEASHEYIFFEH| 3,600 3,600 0
©J|Z= (200! 0Oldt) 300,000& ~ 12€ 3,600




= A
N = 0] &F AF S & AN A
20008 &= 20l A LB H SAIHEDN ~ SRS
EM: S AITHM AN 1
B oAl A
CH|: S Al KH A 2t2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S AITH A AR T 22,105,631 36,444,465 14,338,834
Xl 873,000
Al 21,232,631
S Al XH A4 21,944,611 32,592,240 N 10,647,629
N 873,000
Al 21,071,611
T Al XH A8 2t 1,844,611 5,072,240 N 3,227,629
Xl 873,000
Al 971,611
=F - HE2 ALYHOAHE REAY 1,746,000 2,044,000 A 298,000
N 873,000
Al 873,000
307 QI2t0| ™ 80,000 160,000 A 80,000
N 40,000
Al 40,000
05 QIZtREZ 80,000 160,000 A 80,000
O AI A T2 ket & 2HAA
80,000,000 80,000
Xl 40,000
Al 40,000
401 Al HI L £ 0HHI 1,666,000 1,884,000 A 218,000
N 833,000
Al 833,000
01 Al& H| 1,654,100 1,877,243 N 223,143
oY= <=2z AYHOIHZ ZHAY
1,654,100,000& 1,654,100
N 827,050
Al 827,050
03 Al 201 Y| 11,900 6,757 5,143
oY= -<d== AYHOIHZ =HALY
11,900,000& 11,900
Xl 5,950
Al 5,950
20|22 A4 22 98,611 0 98,611
201 et Y| 98,611 0 98,611
01 AP 2t 2] H| 50,460 0 50,460
OHI|tE 22| (2I0HA) 320,0008 = 12& 3,840
OAobM 22| (200 A) 600,000 = 128 7,200
O=2J|tE 22| (20 A) 400,0008 = 12& 4,800
OROIEXAH(2HA) 300,000 = 128 3,600
OXALAR K 2l (20HA) 2,500,000& = 12&€ 30,000
OABIEZHEA(2IHA) 510,000 * 23| 1,020
02 Z2=2=29%4| 48,151 0 48,151
O22222) 48,151
[OYSPIETE=] 2,400,000& ~ 12€ 28,800
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Ofdt=Ee= 20,0008 * 123 240
(O FS 4=, 1,000,000& = 12& 12,000
Odsx=d7Xl 5,564m x 1,278& 7,111
SATHA HE A 20,100,000 27,520,000 AT,420,000
HdF 2 AZHNIZE TAMYAE 20,100,000 19,500, 000 600,000
401 A& HIZ 201 I 15,600,000 15,000,000 600,000
01 A& HI 15,600,000 15,000, 000 600,000
O30S AH MHYB(HS)
15,600,000, 000& 15,600,000
403 Ut SHHSA=0l& 4,500,000 4,500,000 0
02 S 2S00 HEt A= H 2 & AL H 4,500,000 4,500,000 0
O ATHMAIR (2l24 ) XI&(2XHE)
4,500,000,000& 4,500,000
HEEEA HE 22,560 135,800 A 113,240
HEAY 22 22,560 135,800 A 113,240
KT&G 2cl2¢Y 22,560 135,800 A 113,240
201 et 20,560 130,800 A 110,240
01 AP 2teltl 5,560 60,000 A 54,440
OoAgordzte] 200,000& = 12& 2,400
OZAMY =AY F2A 3IANF M
5,000 * 202 * 128 1,200
OZAMY S=AMY =2 EE3 ¥ 283 N
S 1,960
Oftg & BOM S Ko
5,0008 * 50% * 33| 750
oetl g2 500& = 2,000% 1,000
Og+=o 70,000& =« 33l 210
02 22| 15,000 70,800 55,800
OKT&G Al E Sl 15,000, 000& 15,000
203 YR =2l 2,000 2,000 0
03 AIBFAH S =AY 2,000 2,000 0
OZATHAY H2 =& 2,000,000& 2,000
SANRFEHEZFHH ALY 82,052 3,657,821 A 3,575,769
FHEZMNE NS 30,000 3,565,781 A 3,535,781
FHEZ NS 30,000 60,000 230,000
307 21201 A 30,000 60,000 230,000
02 YAFHAANFEE 30,000 60,000 230,000
ovlEEH ¥ HII=M2HE XN
1,000,000& = 30= 30,000
FEHIHY & WA= ALY 52,052 92,040 A 39,988
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9 2el 11,620 11,500 120
201 £B-2d| 10,620 10,500 120
01 At 22l 10,620 10,500 120
OfI&s &= M= 70,000& * 63l 420
OSEIAA S48 25 L SERY
400& = 3,0000H 1,200
OZHI 7Y GHHA AEHE BE
3,000,000 = 30H A 9,000
203 YR =&l 1,000 1,000 0
03 AIBF=AH S Z=ZH| 1,000 1,000 0
OFHl 7Y gR=aA 1,000,000 1,000
BIE(HD) ALY 40,432 60,540 220,108
401 AIEHI L 2 CHYI 40,432 60,540 A 20,108
01 A& HI 40,000 60,000 220,000
OBIFIFY U FHHXH
20,000,000 = 200 A 40,000
03 Al 2 THHI 432 540 A 108
oOvdEH & FXH&EEH
40,000,000 = 1.08% 432
HE2HZHI (S AITHA AR 1) 56,408 58,604 A 2,196
Jl2Zl 56,408 58,604 N2,196
JlE2&l 56,408 58,604 N2,196
201 Let24] 22,088 27,892 N5,804
01 At 2t 2l 22,088 27,892 A5,804
oJllgge=dags Z2H(II&EZHl)
500,000& = 169H 8,000
OJ=ZHl(=2&l)
8,000& = 16H * 8Y » 123 12,288
OB&4ZZOY A ==& 150,000& * 12& 1,800
202 (44l 30,720 26,112 4,608
01 SLHOYI 30,720 26,112 4,608
O=UWAHI(JIEZHl)
20,000& = 16 * 8 * 123 30,720
203 YR =&t 3,600 3,600 0
04 FN2ELSZ=TH| 3,600 3,600 0
©J| & X (2021 018t) 300,000& = 12& 3,600
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=Ry 5,472,000 2,675,390 2,796,610
= 105,000
< 31,500
Al 5,335,500
OtMBtD B2Ist nsEtd A 261,000 78,000 183,000
= 105,000
< 31,500
Al 124,500
nsdH e 210,000 0 210,000
= 105,000
< 31,500
Al 73,500
SEgussH g 7Y 210,000 0 210,000
= 105,000
= 31,500
Al 73,500
405 TtHabF S| 210,000 0 210,000
= 105,000
< 31,500
Al 73,500
01 XML =S ZH SHI 210,000 0 210,000
OSgus=sH Xt (wH)
42,000,000& = 504 210,000
= 105,000
< 31,500
Al 73,500
HESnsSAE e 50,000 78,000 228,000
SR EsdyH ZHAY 50,000 50,000 0
401 Al Bl 28I 50,000 50,000 0
01 A& HI 50,000 50,000 0
O E X 04 & di 100,000& * 500m 50,000
2L g2 =& 1,000 0 1,000
B ALANY EE 1,000 0 1,000
201 Let24d] 1,000 0 1,000
01 At 22l 1,000 0 1,000
O=Rd SNHEHEE HEAY 88
1,000, 000& 1,000
F=zga4dst 41,000 468,390 A 427,390
38 24535 41,000 468,390 AN 427,390
38 2435 MR 41,000 246,000 A 205,000
201 LB-2E| 30,000 30,000 0
01 At 22l 30,000 30,000 0
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OFFZE AXNE ML g
30,000,000& * 13l 30,000
203 YR =&l 1,000 1,000 0
03 AIF=XH R =AH| 1,000 1,000 0
o038, 3 243 gRFA 1,000, 000& 1,000
306 43 10,000 135,000 A 125,000
01 &3 10,000 135,000 A 125,000
OFFA S43 JAEL2EHMHE ASH &4
10,000, 000& 10,000
g3 oY HAHR =4 5,170,000 2,129,000 3,041,000
g3ad =4 5,170,000 2,129,000 3,041,000
MRO S RI=4 5,170,000 2,129,000 3,041,000
308 AHAIEHHSOIA 5,170,000 2,129,000 3,041,000
07 IXNHMAR S = 5,170,000 2,129,000 3,041,000
OMROEH X =& XXMt 23

5,170,000,000& 5,170,000
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916,380 552,924 363,456
458,190
229,095
229,095

=z M H

402 212t X201 & 916,380 552,924 363,456
458,190
229,095
229,095

=z N H

02 (I 2AILE X (0 ETHR) 916,380 552,924 363,456
OM&aHA =Y 91,638,000& * 10CH 916,380

458,190
229,095
229,095

= 0 H

S (0I2)HA 284 B8X 8,407,572 6,637,000 1,770,572

307 21201 & 8,407,572 6,637,000 1,770,572

09 2+8AHEXS 8,407,572 6,637,000 1,770,572
= )

120,000,000& = 1CH 120,000
OZgHA 2HEBES 8,287,572,000& 8,287,572
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